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401 Al HIZ 2018 20,000 20,000 0

01 A& HI 20,000 20,000 0
OFAL HHBH 20,000

sgJ|l=2 0ld ZHAE 13,236,000 14,010,000 AT74,000
s 1,000,000
= 12,236,000

FAOIE AEI A 11,236,000 8,010,000 3,226,000

201 et 4,000 5,000 A 1,000

01 At 22l 4,000 5,000 21,000
Od, NHEES 5 ¥ 4,000

202 Odl 4,000 5,000 A 1,000

01 = LH 4 Hi 4,000 5,000 A 1,000
OFMOIE & =& 4,000

403 MtXISHHE X201 & 11,228,000 8,000,000 3,228,000

02 S 2SO HEAEE 2 E AL H 11,228,000 8,000,000 3,228,000
OAZEZAH(LHR0LZ, 24 4X ) 3,000,000
OESZA(HZ2BA, &2 I& S) 1,000,000
OxZ, BUAMNE & ZHISA OtRel S 6,000,000
OobIbI(80tHS) L ArZ 22Ut 1,228,000

sgJ2d sEXNT JIESE(20)(HE) 2,000,000 6,000,000 24,000,000
s 1,000,000
< 1,000,000

403 MHXSHHSA=0l& 2,000,000 6,000,000 24,000,000
s 1,000,000
< 1,000,000

02 S 2S00 Het A =R 2 & AL H 2,000,000 6,000,000 A 4,000,000
OANIEE=SE HIEGIRA SMF 2,000,000
s 1,000,000
< 1,000,000

s A7 25 1,594,100 2,082,494 A 488,394
= 552,884
< 1,041,216

e 245 N2 87,500 115,800 A 28,300
= 14,700
= 72,800

sz 29 2l 70,000 98,300 A 28,300

201 ¢et24] 51,000 52,500 A 1,500

01 At 2t 2l 51,000 52,500 A 1,500
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OATFAIY do & EHIt 294 6,000
Og74 ot (HYANMIE &) 15,000
202 04l 11,000 37,800 A26,800
01 = LH 4 Hi 11,000 13,000 A 2,000
OAFHRFA 11,000
303 Z&f 3 8,000 8,000 0
01 243 8,000 8,000 0
02 NLSHES 243 8,000
SENEMNY HEII=NE BSNA(MSESA S 5,600 5,600 0
(22)(RB)
= 2,800
< 2,800
201 ¢er24] 5,000 4,600 400
= 2,500
= 2,500
01 At 2t 2l 5,000 4,600 400
ONYAY 4+ L AREE S 5,000
= 2,500
< 2,500
202 (44l 600 1,000 A 400
= 300
< 300
01 SLHOIYI 600 1,000 A 400
OM=A 29 600
= 300
< 300
SEXESANY SHI=XE SN2 (MSEHSHI T 11,900 11,900 0
)(22)
= 11,900
308 XXM SOIA 11,900 11,900 0
= 11,900
01 AXHHBSEES 11,900 11,900 0
Osastgdsaosg 29 (17014) 11,900
= 11,900
F=IA2 NSTE M= Y 577,470 658,046 A80,576
= 44,629
< 532,841
H 234 2 MlJls g 22 90,000 93, 180 A 3,180
101 @124l 73,000 72,180 820
04 D12t Z22HEE = 73,000 72,180 820
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OANEZE Xt 4,000
202 oddl 2,550 3,000 A 450
01 = LH o4 1l 2,550 3,000 A 450
OXY AlgZd 2] 2,550
207 A RO 10,450 14,000 A 3,550
03 Al & 11HI 10,450 14,000 A 3,550
oz, Ale, s #+& 10,450
H 213 € A2 & JIsHYE 90,000 91,980 1,980
101 14 Hl 73,000 72,180 820
04 JIZHZ22XREES 73,000 72,180 820
(CEFSgelis 73,000
201 et 3,000 3,000 0
01 At 22l 3,000 3,000 0
OANEZE X 3,000
202 04l 1,530 1,800 A 270
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OXY AlgZZ 2e] 1,530
207 A RO H| 12,470 15,000 A 2,530
03 Al & 1 HI 12,470 15,000 A 2,530
OAS & ST 7 12,470
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101 14l 73,000 72,180 820
04 JI2ZtHZ22HEE = 73,000 72,180 820
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202 4l 1,500 1,800 A 300
01 = LH YI 1,500 1,800 A 300
OXY AlgZZE 2e 1,500
207 A RO H| 5,500 10,000 A 4,500
03 Al & 11 Hl 5,500 10,000 24,500
oHlz, s, sAHM 2 5,500
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01 At 22l 3,300 3,000 300
OANEZHE Xt 3,300

202 oddl 1,700 2,000 A 300
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OX<S AgZEE 2el 1,700

207 A RO 7,000 10,000 A 3,000

EEET 7,000 10,000 ~3,000
oz, s, sHM #& 7,000

FIHE AS FES RS SA M 80,000 82,180 A2,180

101 @124 Hl 73,000 72,180 820

04 DIt Z2XREES 73,000 72,180 820
(CEFSgelis 73,000

202 odl 1,700 2,000 A 300

01 = LH 4 1l 1,700 2,000 A 300
OX<E AIgZEE 22l 1,700

207 A&y 5,300 8,000 22,700

03 Al & 1HI 5,300 8,000 22,700
oz, s, sHM #& 5,300
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04 JIZtHZ2XREES 24,311 48,120 A 23,809
(CEPSgelis 24,311

201 Let24E] 7,000 10,000 A 3,000

01 At 2teltl 7,000 10,000 A 3,000
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207 RO 10,000 21,000 A 11,000

03 A&l & 24l 10,000 21,000 A 11,000
otHlz, s, sHM 8 10,000

T L FEMAH KB (2D) 44,629 38,626 6,003
= 44,629

101 @124l 38,229 34,646 3,583
= 38,229

04 D12t 22 HEE = 38,229 34,646 3,583
EZHOR 38,229
= 38,229
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01 2L Y] 1,700 2,000 A 300
OADIEZ ICT 8= 1,700
207 SO0 ] 16,000 106,000 A 90,000
03 A& 32| 16,000 16,000 0
OADIEH 16,000
405 XHakF SHI 16,600 16,600 0
01 ML =S 16,600 16,600 0
oANtE® 10,000
oAQotE®Z Il NE 6,600
seIl=d EHO 99,000 0 99,000
207 A O | 99,000 0 99,000
02 & AHJH EHH] 99,000 0 99,000
OPIES] HOIX MZ2= 99,000
Hsgol d3gXd & 19,500 24,000 A 4,500
= 9,750
= 9,750
201 Bt 16,500 20,000 A 3,500
= 8,250
= 8,250
01 At 22l bl 16,500 20,000 A 3,500
OFHE=YO 10,000
= 5,000
& 5,000
O=sJtEdII=22 H 5,000
= 2,500
< 2,500
OMRES 1,500
= 750
& 750
202 04l 3,000 4,000 A 1,000
= 1,500
& 1,500
01 2L Y| 3,000 4,000 A 1,000
Ostad 3,000
= 1,500
= 1,500
Hsgol AP 19,500 24,000 A 4,500
= 19,500
308 XXl & A S0l 19,500 24,000 A4,500
= 19,500
01 RFXISHE 19,500 24,000 A 4,500
oO=stad 19,500
= 19,500
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= 15,000

201 Bt 18,000 14,000 4,000
= 9,000
= 9,000

01 At 22l bl 18,000 14,000 4,000
OYE2s WE 6,000
= 3,000
& 3,000
O A= 3,000
2 1,500
= 1,500
OMRESE L 8N ARF 5,000
= 2,500
& 2,500
OnseMI ROl 4,000
= 2,000
= 2,000

202 04| 2,000 2,000 0
= 1,000
& 1,000

01 2L Y| 2,000 2,000 0
OgREe L HANEH 2,000
2 1,000
& 1,000

301 et M= 10,000 14,000 A 4,000
= 5,000
== 5,000

09 HALAHI X &= 10,000 14,000 A4,000
OXFES A, s S EFAA & 10,000
= 5,000
< 5,000

OISRl e-HIRLIA ASESE XA( 50,000 45,000 5,000
= 50,000

308 XX SHHSOIH 50,000 45,000 5,000
= 50,000

01 AIXHHBAEXZ 50,000 45,000 5,000
Oe-HIEALIA T2 29 50,000
= 50,000

NEEg=s)ls B2 KA (=21D) 72,000 72,000 0
= 72,000

308 AXISHXSO0IH 72,000 72,000 0
= 72,000

01 AXHNBIMNEXTZ 72,000 72,000 0
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= 72,000
sdo FESFAUE HEXJ(21) 13,750 13,750 0
= 5,500
= 8,250
201 fEt2E | 12,150 12,150 0
= 4,860
= 7,290
03 A= S HI 12,150 12,150 0
OZA: =gl d=23 FilU =29 12,150
= 4,860
S 7,290
301 LetENZ 1,600 1,600 0
= 640
< 960
09 AL HIXIEAS 1,600 1,600 0
OFAL AHl24 1,600
= 640
= 960
sHE ASIAN 2H(2D)(HE) 300 7,000 26,700
= 300
202 o4 Hl 300 7,000 A6,700
= 300
01 ZLHO I 300 7,000 26,700
OE=2ZA EXEE 300
= 300
sSME ASIAMN 24 (22) 98,280 111,360 213,080
= 98,280
308 XX &M S0l ™ 98,280 111,360 213,080
= 98,280
01 HXHHBAEES 98,280 111,360 213,080
OsdtEs ASXTA 24 98,280
= 98,280
=9 YH0IE £8 ¥ GI0IE 2Ze RE(2D) (N 446,450 446,450 0
8)
= 223,225
= 223,225
101 1248l 394,630 375,000 19,630
= 197,315
= 197,315
04 D12 RZ22 TS 2= 394,630 375,000 19,630
ool 266,000
= 133,000
S 133,000
O& A= 24,630
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= 7.315
= 12,315
O =L HI 75,000
= 37,500
= 37,500
OYHERES=S 29,000
2 14,500
< 14,500
201 ¢4l 12,400 16,350 A 3,950
2 6,200
< 6,200
01 At 2t 2l 12,400 16,350 A 3,950
OANIESYNSI APAS 1S 3,600
= 1,800
< 1,800
OOOIH 24 A2 NH28 1,000
= 500
< 500
OACIESYHEEI BRH X 6,600
= 3,300
< 3,300
OMEES & d& A2F 1,200
= 600
< 600
207 &R H | 4,420 14,000 ~9,580
2 2,210
< 2,210
03 Al & 1 HI 4,420 14,000 A 9,580
OH 0ol =8& N £ 428 S 4,420
= 2,210
< 2,210
301 LEEAS 35,000 35,000 0
= 17,500
< 17,500
12 JIE 243 35,000 35,000 0
OXZAsIH Atdll 2 35,000
= 17,500
< 17,500
e ANES N 914,000 979,865 65,865
= 48,500
= 865,500
DAS A THHIDI= OHY 387,600 534,950 A 147,350
= 48,500
= 339,100
WA THEHDI= o3 75,500 75,500 0
101 @124l 49,000 46,500 2,500
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04 JIZHHZ2XREES 49,000 46,500 2,500
(CEFSgelis 49,000
201 Let2d] 1,800 2,000 A 200
01 At 22l 1,800 2,000 2200
o=22XNESH, HE S 1,800
202 OHl 6,700 9,000 A 2,300
01 = LH 4 Hi 6,700 9,000 A 2,300
OMATHEY 232 6,700
207 RO 18,000 18,000 0
03 A& &34l 18,000 18,000 0
Sk, Hlg, s s sAHM 9,000
OAlS & =ZXINRF 9,000
FUHEE MEE 84 A7 53,500 59,250 25,750
101 @14 Hl 24,500 23,250 1,250
04 JIZHHZ22XREE S 24,500 23,250 1,250
(CEFSgelis 24,500
207 RO 29,000 36,000 A7,000
03 A& & 24l 29,000 36,000 A7,000
O&X, HE, =2, & sAHM 19,000
OAlS & ZXINRF 10,000
= KL IAS g AP 42,500 63,250 A 20,750
101 @144 Hl 24,500 23,250 1,250
04 JIZHHZ22XEE S 24,500 23,250 1,250
(CEFSgeliCs 24,500
207 RO 18,000 40,000 A 22,000
03 A& &2l 18,000 40,000 A 22,000
OZX, HE, s 5 s 9,000
O#ZUoIH =88 88 S(103) 9,000
ADEE A9Y SENIALMH NA(21) 97,000 99,000 A 2,000
= 48,500
< 48,500
201 L4l 60,000 59,600 400
= 30,000
< 30,000
01 At 22l 60,000 53,800 6,200
OSZXNAHEH 2l 3,000
= 1,500
< 1,500
os¥zLd 50,000
= 25,000
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oyEzA 7,000
= 3,500
< 3,500
202 044l 2,000 4,000 A 2,000
= 1,000
< 1,000
01 SLHOYI 2,000 4,000 A 2,000
OEXJANH 29 2,000
= 1,000
S 1,000
207 O &l 35,000 20,000 15,000
= 17,500
< 17,500
03 Al & 1HI 35,000 20,000 15,000
O A= 2tel | 35,000
= 17,500
< 17,500
DA = tFME Il e 19,100 57,950 A 38,850
101 @124 dl 9,800 23,250 A 13,450
4 JI2ZtHZ22XRHEES 9,800 23,250 A 13,450
oxFe=F 9,800
201 Let24d] 1,000 2,000 A 1,000
01 At 2teltl 1,000 2,000 A 1,000
o=z, ~AEZ% S 1,000
202 O4dl 1,500 2,700 A 1,200
01 =L 4 Hi 1,500 2,700 A1,200
O=LH o HI 1,500
207 RO 6,800 30,000 A 23,200
03 A& &2l 6,800 30,000 A 23,200
OZHOoH =88 28 S 3,400
oz & sAHM 3,400
ANERHRT 22 22X L ZEAAE WY 100,000 0 100,000
201 Let24E] 18,000 0 18,000
01 At 22l 3,600 0 3,600
OANEEE & HMULAEE S 3,600
02 =24l 14,400 0 14,400
OAMH & Y AEZ S 14,400
202 O4dl 2,000 0 2,000
01 = LH 4 bl 2,000 0 2,000
OSSN 2,000
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207 A& H| 80,000 0 80,000

02 & AR b 80,000 0 80,000
OAMHME M= & AH Z20 WY S 80,000

=38 MEiOl= OHe 526,400 444,915 81,485

b= THEHI s AR 89,150 90,390 A 1,240

101 @144 dl 70,000 69,750 250

04 JIZtHZ2XREES 70,000 69,750 250
(CEPSgelis 70,000

201 Let24d] 1,800 2,000 2200

01 AP 2teltl 1,800 2,000 A200
OlE®E AHE 5 23 7¢ 800
OAA2 =2yl 500
O &HI & Xl 500

202 o4l 7,350 8,640 A 1,290

01 = LH YI 7,350 8,640 A1,290
Ot MHHdl= A7 7,350

207 A RO H| 10,000 10,000 0

03 A& &34l 10,000 10,000 0
O3X, Hlg, 5%, =AM 8,000
OAlS & =XII2 2,000

JIZEHSN 2 M= JIAME 2 JI=sHe 158,380 158,625 A 245

101 @14 Hl 110,250 104,625 5,625

04 JIZHZ22XRHEE S 110,250 104,625 5,625
OXF=F 110,250

201 L2l 1,200 0 1,200

01 At 22l 1,200 0 1,200
Ol &+X THHHXICH AIAE RXAE> S 1,200

202 44l 4,000 6,000 A 2,000

01 = LH 4 1l 4,000 6,000 A 2,000
Ot== J&THoll B2 Jl=Heg =& 4,000

207 A& H| 27,930 33,000 A5,070

03 Al & 12 HI 27,930 33,000 A5,070
L, Hg, s¥ S 5,000
OHd A, OOIH =&I S 10,000
OAY & =X S 9,000
o= & sAHM=F 3,930

405 XtatE SHI 15,000 15,000 0
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OdMERF| 15,000
AH EHEE > 4F3 AR 27,370 57,500 A 30,130
101 @124 dl 14,500 28,500 A 14,000
4 JI2ZHHZ22XEES 14,500 28,500 214,000
oOxFF 14,500
201 Let249] 1,000 2,000 A 1,000
01 At 2teltl 1,000 2,000 A 1,000
OANZEIIIE HANRE & AHFE S 500
ORsSlH=e L ANRES S 500
202 oddl 1,000 2,000 A 1,000
01 = LH o4 1l 1,000 2,000 A 1,000
Ot &3st A7 =& 1,000
207 A&y 10,870 25,000 A 14,130
03 Al & 11HI 10,870 25,000 A 14,130
OXxZ & M&EE =XM 5,000
OANZEI & HAIE 23 5,870
SHEI THEHOIs A2 48,000 51,900 A 3,900
201 et 5,000 5,600 A 600
01 At 2teltl 5,000 5,600 A 600
OUEE, AHE 5 227Y 1,000
OANEZZ Xt 4,000
202 oddl 5,000 6,300 A 1,300
01 SLHOIYI 5,000 6,300 A 1,300
Ot THEY A2+ 5,000
207 A RO 38,000 40,000 A 2,000
03 Al & 1HI 38,000 40,000 A 2,000
oHlz, s« 14,000
OEH AIEE & & 24,000
MAS SFHAEZ HE 37 27,000 30,000 A 3,000
207 RO 27,000 30,000 A 3,000
03 A& &2l 27,000 30,000 A 3,000
O&sX, Hlg, =%, =AM 20,000
OAlSF & =XI|F 7,000
OleHs Mt BBH =& HY 176,500 0 176,500
207 A RO H| 34,000 0 34,000
03 A&l & 224l 34,000 0 34,000
O0&H, Hlg, s% S 30,000
O&=IM & sAM 4,000
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SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
1 A& 8l 28I 142,500 0 142,500
01 A& HI 142,125 0 142,125
OXN=-2dXd 2dHE Ald S 100,000
OXNSHMO 22=0MAS AE S 42,125
03 Al&E 201l 375 0 375
O0IcHY = BH =3 Y bl S 375
TSP siE dadls g 643,542 816,920 A 173,378
= 39,200
Ras 75,000
& 529,342
SgEEEN & JESX 25 410,440 579, 140 A 168,700
= 36,700
as 75,000
T 298,740
Eae B=E HRP 61,110 64,100 A 2,990
101 @124 24,500 24,880 A 380
04 JI12ZtH 22 XHsE2 24,500 24,880 A 380
o9dExX 24,500
201 LEt2AY| 10,350 11,500 A 1,150
01 AFR2t2l bl 10,350 11,500 A 1,150
O8X AEEZE Xtz 2,000
ozsJYx= 600
OadgA = S Xl 3,300
OHJIZ Helbl 2,850
OEZ HZEHI 1,600
202 O B 8,260 9,720 A 1,460
01 2LH 0 HI 8,260 9,720 A 1,460
ONZZEZX U ALRH 8,260
207 AT IH & | 18,000 18,000 0
03 A& b 18,000 18,000 0
ON=% A (OIZER2 88, AtA) 6,000
O&X, Hlg, s<%, sAM 6,000
OAMS 2 =X F 6,000
BAME zEsY o7 17,000 20,000 ~3,000
207 AT OH &b 17,000 20,000 A 3,000
03 A& b 17,000 20,000 A 3,000
OENE & B 6,000
obtlz, <%, sAM 2,000
OYa? Y L 2 AN, 222 2,000
SZ20|M2 BHES X S 7,000
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101 @14 Hl 22,050 24,880 A 2,830
04 JIZHHZ2XNEE S 22,050 24,880 22,830
OHARE =X 22,050
202 o4dl 2,300 2,700 A 400
01 = LH o4 1l 2,300 2,700 A 400
OAZFA & A2HE 2,300
207 AR H| 9,000 10,000 21,000
03 A& &2l 9,000 10,000 21,000
OLNEL JtA(OlE2Z2, EE, Atd) 6,000
OlItP & EZIIJI 2RF 3,000
405 TtobF S| 20,000 0 20,000
01 AL EFFHSHI 20,000 0 20,000
OLEEMEXN(HEA BHeE) S 20,000
s)|=2 ZEEHAM 29 N2 (83d=sg)(=2 35,000 35,000 0
= 17,500
< 17,500
201 Let249] 5,000 7,000 A 2,000
= 2,500
< 2,500
01 At 22/l 5,000 7,000 A 2,000
AEAH =, HIIE H™eltl 3,000
= 1,500
= 1,500
OfIas A L2t S 2,000
= 1,000
< 1,000
207 A RO 30,000 28,000 2,000
= 15,000
= 15,000
03 Al & 1HI 30,000 28,000 2,000
o8 &HI(ICP S)Aa2E 10,000
= 5,000
< 5,000
O=24 Al & 225 20,000
= 10,000
< 10,000
s&E JFHS HEJ= WY 37,580 74,060 236,480
101 @14l 12,180 24,360 A 12,180
M4 JI2ZHZEXNSES 12,180 24,360 212,180
(@©FFSgelie 12,180
201 LB-2d| 4,500 5,000 A 500
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O8 X AIEZE Xz 2,000
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202 04| 2,300 2,700 AN 400
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OAIEFA L HREZ 2,300
207 Ao Y| 18,600 42,000 AN 23,400
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=X, HE, s, A 10,000
OAS, =XII7 S 8,600
SIIEHIE XN SESEA 18,000 20,000 A 2,000
207 S SO | 18,000 20,000 A 2,000
03 A& 2| 18,000 20,000 A 2,000
OY/AEN) ARE(HEAH 5) 2,000
o8xs: EHIE 5,000
Oln=% 88 JtA~ S 3,000
OKdl0lM= ZAF BHX & AlSf 3,000
QJIEt HE=ZE % AN, A2 5,000
S|z gt P& BY N (31) 38,400 38,400 0
= 19,200
& 19,200
101 @121l 22,500 0 22,500
= 11,250
& 11,250
04 JI2ZtH2ZXNEE S 22,500 0 22,500
OHFREX 19,727
= 9,864
== 9,863
oOHAERHYE= S 2,773
= 1,386
o= 1,387
207 SO0 | 15,900 29,400 A 13,500
= 7,950
& 7,950
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2= A IE 8,000
= 4,000
== 4,000
O24 NS L 22 F 7,900
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SEXNZIIHXL (E=sY)(=21D) 150,000 0 150,000




2N
X ZH -
L= B

el

O 2 o

=BIES
BAUSHS MM N
YBABH U NAZE 2

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Fag 75,000
& 75,000
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Fag 75,000
&< 75,000
01 AL 2 ZF S| 150,000 0 150,000
OfTHSECXD 22 ZZH(ICP) 150,000
= 75,000
& 75,000
et SHME 22MAH AP 233,102 237,780 N4 678
= 2,500
=} 230,602
F=Q Yols 2HI=s AP 46,460 23,000 23,460
101 2121 4| 24,360 0 24,360
04 JIZtHIZ22XNSE S 24,360 0 24,360
OEHOL 24,360
202 044l 5,100 6,000 A 900
01 2Ll 5,100 6,000 A 900
OMEFA L HL2F 9 5,100
207 I & 17,000 17,000 0
03 A& ™3| 17,000 17,000 0
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OA &2 =X S 7,000
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OEZHEL 24,360
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OHIolHA AHIE M 9,450
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